[ Efficiency vs vertpos |

1072 107 1

10 0
TP vertr (cr%)

2

—=— DQM_TT__mkFit-DQM_old132

Efficiend —— pQM_TT__mkFit-DQM_new132

~ 0.5
20.45F
o
>
2
50.35F
0.3F
0.25F
0.2
0.15F
0.1+
0.05F
e

effic

.................................

............

.............

Ratio
N
!IIII LB

+
+
>4
a 2
> «

0.95!

-20 -10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |

~N 0.5
>
B.0.45F
1S
175} 0.4F
20.35F

&
c 0.3
2
Q

.........................................

......................................

..........

N
T

0.952

r

) !

+
ToSoooooos

b

+

n

=20

~i5=10 5 0 5 10

1520

Sim. PV z (cm)




	Contents
	Page 1


